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3.7 Applications of Exponential Functions

Recall:

Note: To calculate the

Amount after "x" number of growth/decay

growth/decay periods

# of growth/decay periods, divide the total
\ A =3 ( b)X periods time by the Doubling or
0 Halving time (i.e. the
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Ex. 1 A certain strain of yeast cell doubles under certain conditions every 20
minutes. If there were 350 cells initially, how many will there be in 3 hours?
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Ex. 2 The half-life of a radioactive elementis 15 da\yls_
a) Write a function relating the amount remaining, in grams, to the time,
in days.

b) How much of a 200 gram sample will be left af'ter 150 days?
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Ex. 3 In 2001, the population of Canada was 31 051 000. What is the
percent growth, if the current population of Canada is 38 246 508 ?
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Ex. 4 A radioactive substance has a half life of 2.4 days.
a) What fraction of the original amount would remain after 12 days?

b) How long would it take until only 12.5% of the original amount remained?
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Ex. 5 256g of a substance decays to 64g in 15.6
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Ebola: 1 case
growth: 11% per day




